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PREFACE

This Modern Standard Arabic Basic Course, consisting of
twenty-three volumes of lessons and accompanying tapes, work-
books, and references, was developed and produced by the
Defense Language Institute, Foreign Language Center (DLIFLC).

The course is designed for use in a full-time resident
training program consisting of six hours of instruction each
day, five days a week. For maximum effectiveness the course
should be taught by qualified instructors who are educated
native speakers of Modern Standard Arabic. Additional text
material is being prepared for appropriate colloquial Arabic
dialects to be used as required.
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Iesson 129

lll‘ -
First Passage re il

study the following passage thoroughly. The new vocabulary items
are underlined; relying on the context and on your knowledge of the
root, try to guess the meaning of each item(the teacher will provide
the meanings which you cannot guess). *
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* In Arabic newspapers, the words are not vocalized, the shadda
is dropped, and the Hamza rarely occurs. The reading passages of this
book will gradually assume the same appearance.

From this point on the studsnt is encouraged to prodace the

pausal forms whenever he cannot readily supply the endings for case
and mood.
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Exercise on the First Passage J;}H.J:..;JI s s

(1)

(2)

(3)

(4)

(5)

(6)

(7)

What was the nationality of the murdered man Ahmed Bushiki?
According to the Norwegian newspaper, who killed him?

Of what significance is the fact that the murderers were
working for a foreign Embassy?

Does the news item suggest that some Norwegian citizens
syvmpathize with the Arab Resistance Movement?

According to the news item, to what extent is the Israeli
government concerned about the security of its nationals
in Noxway?

Does a Political Arab Organization have a branch in Morway?
The second Norwegian newspaper published a news item related

to the incident. Why do you think the Norwegian officials

took the trouble to deny that item?

Speculate on the reaction of the Norwegian Government to the
incident.
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First Review u,l;)f 1 3anl, il

1. Each of the following sentences contains an underlined word.
Use the plural of that word in a sentence:

kit p LT Y LB e G ae sl (1)

i adleds jlh 3 L S (<)
AL g o ! Glep ol BIBT ()
T sl ul"-""“'-’—",":’*"l-’)rs ()

o ppellaia e dilas a SEL gyade (2)

. addls. d’ Tasoe as co B Joas ! (5)

'9‘""""‘“&"‘""“L.ésfu)ﬁ““-'a""‘;"“r‘y'"‘i:flfLﬂJ|),,a-"-)S..uJ|f,§.“. ()

Soml e mil s WIS Lt L ()

2. Use each of the following words in a sentence;

-t

5

1 4 LY ? -7 o ~
. ﬁkn’o"u./‘ 1. ¢ .J..»‘J; ¢ —y ¢

C. €\

3. This exercise has two sets of items: the first consists of the
forms listed at the beginning of the exercise, and the second consists
of the underlined forms. For each of the items of the second set, choose
the semantically most similar item(s) from the first set:
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4

c'&ﬁucu"“;}bjc gl:l;‘é:l)-’fﬁl-:/l Js;t..!c O >

J.e-xcd)ﬁ; |J‘$‘ .&&Laui.a.gl;ic L;}‘i_,.'.‘.l

sy blsnadl ol I & opnd V8l ESL) Jy i i (1)
- . e LYY

TS iR p e (v)

v Sl B pad! e el o2 ()

C LBl ey ()

§ 5w oadlel, lucymal S (2)

o Wb N aanp loa VI st (3)

T eladl tia o I il e iy o pie 150 ()
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First Homework * J,"YI (o) ad Lo 1) |

(1) With the help of the dictionary, supply the missing information

(including the gloss) for each of the following items. The
glosses should be restricted to the contexts which occur in the first
passage.

-
s

= . t)Lqul) ;;3!
( peendly thal

RS
3 : mnl) b
LJL’ A“:':

( i

( : el ) S5
o s pladl) 5
]

( p el ) e

( el Al

( pendl) OBl

( . Cf€J| ) e

( cpladt) &

* Whenever an exercise of this type is assigned, the teacher should
make sure that the students know the root for each of the vocabulary
items on the list.
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Second Passage o Bl il

Listen to the following passage. You may stop the tape and use
the dictionary when you encounter unfamiliar words.
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;e madd vy o
Exercise on the Second passage QVLJ il e s

For each of the following stimuli, select the most appropriate
response:

1. Jordan shares common borders with
(a) Egypt
(b) Lebanon
(c) 1Iraq

2. Jordan has
(a) one river
(b) two revirs
{(c) more than two rivers

3. The capital of Jordan is

(a) Irbid
(b) Jarash
(¢) Amman

4, The Bedouins live in
(a) The desert
(b) The cities
5. Under the present system of government, Jordan is
(a) a republic
(b) a constitutional monarchy
(¢) a dictatorship
6. Jordan's relations with the United States are
(a) bad
(b) fair

(c) excellent
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7. Jordan is now a member of

(a) the Arab League

(b) the Central Treaty Organization

(c) the Organization of African Unity
8. The members of the Jordanian House of Representatives are

(a) mostly Moslem

(b) mostly Christian

{(c) half Christian and half Moslem.
9. Agriculture in Jordan depends on

(a) seasonal rainfalls only

(b) rivers only

(¢) both seasonal rainfalls and rivers

10
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as Wl aaat !

Second Review

Rewrite each of the following sentences using the passive,

instead of the active, form of the verb:
oS 2 ok SVl e P ds (1)
cmbedy ghlalcusls ()
ol e Jlplo SISl GIbT ()
o il ] pl s (o)
P K156 S G2ST ()
st lis g 0l medsdlie ()
o Fuld Gy alles bl ym 1 ()

T ol Al i &yt agSadleda Jo (7)

11



1~-129

RPN

Second Homework*

(1) With the help of the tape, study the second passage
thoroughly.

(2) With the help of the dictionary, supply the missing
information (including the gloss) for each of the following items.
The glosses should be appropriate to the contexts which occur in the
second passage.

( gladt ) JEE
( s pladl) 35
( p ol ) s
( : dusgll pul) ]

* Whenever an exercise of this type is assigned, the teacher should
make sure that the students know the root for each of the vocabulary
items on the list.

12
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Exercises on the Two Passages &&-“JJ' uj‘ Oa‘)l‘:‘

. . £, w
A, Exercise on the first passage J’yld_,_ﬂ u_L, S — )

Summarize the first passage using the NCTS writing system.

13



-129

B. Exercise on the second passage QU‘;}.U' g—L‘ g —
s adbllalel Y e
s G AW L Jladl e oY Ses Alab WL (1))
Tl
. O"J‘y')Lf-‘glc'fﬂ-‘r"';'J' (v)
¢ oo, ¥ L_,sz:;l,;l@@!;ﬂ L o(v)
c N b ST GVl el Lo ()
A VORI ulso.;;}lloLS.u Sas ap Je (o)
¢ ool W Wl ws Y1, lo S (1)

e 0wl B Il Sl s G (v)
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=1u,aJl . >
Vocabulary Exercises ind “‘)"J u“" U‘—'J""’

1. Each of the following sentences contains an underlined word.

Use the plural of that word in a sentence:

§ ol 1 i e YV il s 1Y ps L ()

o LIS, aabe )Rl eds (o)

e o leutantl aasy JaJ Som (=)

of”J‘ﬁ- 'rs"”'.‘.““' (J)
edet ! Y el o ik sl Jla) Gege ()

¢ ol g I ) o lasd gzl Lblse S ()

15
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3. Replace each of the underlined verbs by a phrase consisting of

3« and a present-tense form:

v oIl Gl bols e L) dgSadl Sl (1)

o Dl JIEIRI i i aeSal i ()

o prely vgsdl s (=)
o sl e Shasadl Ll b))

. 5;-9-"%-“3)‘3-—-' < Joay G:“YJ;.?..‘;JL'&.,S&JI.;._?:l (=)

4. Use each of the following words in a sentence:

3—-—-;5::4 g,J.F!,...aa.,glg J}lﬁ Py j_:_,/

5. Listed below are sets of words . Use each set in a sentence.
gif_‘:...tli.:,a;‘.;li:,l, L (1)

e ol ¢ QW (o)

o obd e elole (=)

Ode ¢ g6 theo s gur (V)

d)-&-” ‘ :La-,g ‘ UL.J ()

peie ¢ o> Jiz, ¢ g (9)
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Lesson 130

First Passage ' J;‘)! I aad!

Study the following passage thoroughly. The new vocabulary items are
underlined; relying on the context and on your knowledge of the root,

try to guess the meaning of each item (the teacher will provide the meanings
which you cannot guess) .

. c‘ - ‘ -
2 1YY S elaws] e s g’r'ﬁy"’"“w’-“‘f Sl sttt

iyo s el uben Llou L’.;;f,’gu:;_u,u-,l.,ul
Ll 9 Sl L1350 5 usgll
— 2 s i J3) e T B ol aly W B Al

’ . S - . 2 - 2 o -~
S a8 dear LET Lo an onsy

;/’7/

» _ P o~
(bed 00 9,80 000 ) 08 (o afnu b Bass

F“Rﬁz*’ﬂ'uﬁ-’)ﬂ“-’lce‘?;’,
JRCEERT Lt
oM e (B Bl Szt S Ll e Y1 Ly o Lus ]
r)g')-f"%-a—-g)i.,aha Lt

Ol Lluued b o Glaadl e jes )l Tolul ol s, 0l psy

e lhiIL LS oLt sy o o vy il G ol b syl a0 b

% Gl DUT Lans J233 505,00 808 e 3 umpdl iy o wablatles 5 Ly ¥
PR R VT b SN PP ORPN DR ST L WIS WP OREN iy ORI BT )

90y ¢ L) P aZeaidl G lalil GalE oty ey ceadid ] udow *LasT
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s, w
Exercise on the First Passage J}*'u“"J' ul’ 0

Complete each of the following sentences relying on the information
presented in the above passage:

1.

On the first of September 1973, the Egyptian president Sadat

and the libyan president Qaddaafi signed .......cceec.

9.

The constituent assembly .c..cceveeeen

The new constitution .......cc..

The referendum ..ceeeeeeee..

On both sides of the Egyptian-Libyan border, ........
As of September 1,1973, two resident ministerS........
The merger between Egypt and Libya is a step .......
The merger was officially announced in ..ececeecceees

The political, economic, and military effects of the

MEXJeY .cocecesssscsas

19
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AT IR]T

First review

1. This exercise has two sets of items: the first consists of the
forms listed at the beginning of the exercise, and the second consists of
the underlined forms. For each of the forms of the second set, choose
from the first set the form(s) with the opposite meaning.

e Job b o oVl Gt e llunl s Lhugdl e o olal
NTON] USRS PR | I JU-X )

o ol Gt dyo el e LY —
Pomtill iy i peths U1 e — o
. iolaad] e e SV I - o

v Sl P Lty L) e L clldl B

2. This exercise has two sets of items: the first consists of
the forms listed at the beginning of the exercise, and the second consists
of the underlined forms. For each of the items of the second set, choose
the most similar item(s) from the first set.

&

€ : .77 ’ 4 LR S /°2 P
)éb ‘ Je:" ¢ 6)‘}90'—"—‘)‘3Lo ¢ 399 ¢ ;,J;E,c ua.’iﬂ‘d).&“

R

Q- v 8 e T s e - 9 -, @
Ve a1t LLUIe BB ¢ al o dmladle il ¢ 5

-

§ Kl B i e il o Lehdl 2y el VT Bl o

Goad S I 3l AV aSludly 2hadl i) peny s Bippenr — o

EYC. 3 WS M TR JE R

20
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e 5,08 Jlasl Gl Jom 85 Lle o

¢ ar,edl Jy ! gy paskalle eyl 1OW

N RO | O S e Ly JUY 1) QR
v 25 et p Y B

o g il i) § s Jypd! — ¢

3. Rewrite each of the following sentences using the passive,

instead of the active, form of the verb

el S e deladletgtalle ki)
el S el Ll Blall hls iul o

Gt bithy o deslead S e aead 13,15 31 3 e & oz 1

p— ]

}i

. plladl
oS e LI BT P el 0 - o

BV Al Gt e B ST G gl S5
| ,a;;).:.le:JL.;.JI‘aBJa.:.JI;._‘__.JIr?LQ -
Vil e il e e e —

oSV, Wl

21
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First Homework .J;‘Yl G b g )l

(1) With the help of the tape, study the first passage thoroughly.

{(2) With the help of the dictionary, supply the missing information
(including the gloss) for each of the following items. The glosses
should be restricted to the context which occur in the first passage.

\

-

( el S
( :endl) tEanl)

-

ﬂ“a el
St oo ol

“J'f

-
@ .

( s pladl)y IS
( : peadl 4-.?—';-#

( reendl)

s pendl ) ki

—
3

22
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s pedl) 3 5L7

rpendl )
pede 5253

s pladly &5

-

&2

P pladl) gy

23
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Second Passage YT B
g L",,l..Jl ad!

Listen to the following passage. You may stop the tape and
use the dictionary when you encounter unfamiliar words.

- P »
¢ cnblBopadl gy 0 by 3yally Jld) G ooy Gos AL SL
,-

w . - € o1 ’ ? ‘e 4 . . .
B T P B T R L o T R

R gyl e i g S

»

€ » e 7 R .
J.u:-dlgz -~ ‘ .b..".'." 1 '-_y‘ . 2__.‘ 5 ‘3.&123 L_J
SR A )P O

e\

76 s 0~

Bl Uil G ol o s £ e L
c}"' yusﬁg;.;‘%f‘l‘“ g‘fL‘:“)’-(ﬂ' '@'411—;&‘0- ous o L u,,
Sl G Jl e GaS U Jumiy s 1 gl Js o Lo JS &

ST [oxs I P \5‘:‘3| Sl o hlyd) e 3
om o Bsid e el e 2 Fle Pl (85 4 ol Bo by
ok s VAL gl el

DN L5 by ¢ BRI A SWI o pld el oo 2l
2L 55 Tl Jppd LT ey ¢ i) Jlsly 3, badly do Lwd)

. ALl

24
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e Vawoy ;909 daeay Wldns s L

s “ e AR L 23, 2w ’ .
Q,MJJ',O_&.....,” 05[45'%'—;'3-%’.* Lf.Jd.uLJ).:ng,.f..._'» oLu,J,
> %

N SO | et X U] OO SN T-Sd | RET I SES NSO I

° «” v 2 0"
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Exercise on the Second Passage U;L‘;_II:}_;Jl ol s

According to the above passage, which of the following statements
is true and which is false?

1. Lebanon shares common borders with Syria.

2. Lebanon is a mountainous country located on the coast of the
Red Sea.

3. There are no rivers in Lebanon.
4., Tripoli is the capital of Lebanon.
5. Tripoli is one of Lebanon's most important cities.

6. Tyre and sidon are not the same cities which are known in
the Arab world as Suur and gaydaa.

.

7. Tourism is one of the main sources of revenue in Lebanon.

8. Lebanon is a dictatorship.

9. Different racial and religious groups are represented in the
Lebanese parliament.

10. The French culture has been dominant in Lebanon for a long
time; consequently, Lebanon's relations with the United States have
always been strained,

26
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Second Review o ! dno |).J }

1. From the words in parentheses, select one which most appropriately
fills the blank in each of the following sentences;

(3,08 ¢ e aby o U 5 o Jla e tesN s

b4 Gl adallghyo,as o

( aslyll

¢ pedadl o tegid) a YT L

¢ Bl o 3oll) o Ly Y1 5,0l p il wpbeatoscal — o

( Jelos

‘ ElAJ|Cxpia‘J|Z;B" Q;Ldiiik')  — gél&)“;‘hJ‘ 7;55% - J
( Gl

¢ U6y LAl o byl alin peatu @l Y ek
(o« Lo

¢ dnad AL, a3 g aall )y, 'J)-:{J"')’*A-”H‘)".‘ ' &5 —
( LN g uadl ¢ Lladl kys 3470 pun

J'“"'-"“.JC:‘;’."C)'Y‘-.J“-L'.’“ E)‘r‘r‘”y|3~’:‘)’.‘ u,q_’. -
(sl Hlyas e LS

(B ¢ Olas e 3y6a ) o Rdl b oL Jbo 1,85 _ b

27
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2. Each of the following sentences contains an underlined noun.
Use the plural of that noun in a sentence:

¢ 3 wS Y i e pis Job s 31 e

. j.sA.J..NJa.)Jluls —_ -

sy, pebs Jeipilliws — -
?eL;,s,,.L:_rsiL_ )

LAl B bl )

C BeS Byt e L1
RRLCRTIN D | B - PR

o ol P o eludl £

SO LES SRV U PN LTI DU A

3. Replace each of the underlined verbs by a phrase consisting of

J,..«, and a present-tense form:

celoa ¥l us e Sl YIESLL

o deyae el o lis o
v by ¥ 5l TS Y s )13, LY b
v ppedl e BNl b Sla Y s

cpladt Vis Japdl e e gl 0l —

e

28
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¢ el I LS s

4, For each of the blanks in the following sentences, choose
the most appropriate item from the list which introduces this
exercise:

“;__ L. .’ o) - P a4 .. o~ ’ - [ - .
el olo ¢ 49 ¢ i ¢ > L&:‘d“’ ¢ £ 8yt s ¢ Lf:/
P R . 2 )—’. )" g [0 andirad- o4
PR o3

o T e, sl .22 . .. o .o g
¢ CEU:‘ 1o ¢ o o d;é'c Jeds al ¢ 4JL>¥|r{,c dbi;;ﬂﬁz ¢ L;r

s, I - <7
sl G v 3,1

. el ol e S )
sl dad ol Gl ks o
L T s A T L

(-]

e Ut gualt LT
. %__,mkj[_,{.___ L,J!J,,a,_llo"&:};fﬁu_y K- o
CaSds LY K atead) Gy —

. 3&3.&53).(,-::___— @MC-QL';B — )'

o odels dsalt 5N NECIEIE S UV | P TCONR
Cas WAL et Wl el b
L) P e ezl GV e e LS e by, B8ls d —

29
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S | FOS{ W PUNT I ] - e
RTINS TEU T RV PR (VN 1) DR

v gl G el 2Ny Wl e SNyt —

RTINS | PP YU P UK. RS

e Ll eI, —

30
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Second Homework g‘ it :"JJ_.J H . I,J |

(1) with the help of the tape, study the second passage thoroughly.

(2) With the help of the dictionary, supply the missing information
(including the gloss) for each of the following items. The glosses
should be appropriate to the contexts which occur in the second passage.

( s pladl)y jue!

A Lplad) s

( : el 1 (noun)

31
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Exercises on the Two Passages M' ul‘ Oﬂ)l‘:

. i n the First Passage T N e 0 s
A Exercise o g J,Yl. i S — |

Cag el aa L Y1 il il

32
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B. Exercise on the Second Passage UJL“.Jk;.:ﬂ G e — &

Translate the second passage as accurately as you can.

33
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Vocabulary Exercises e lusdl e cm)LJ

1. Replace by one word each of the underlined sequences in the
following sentences:

@ ¢ e - o5, .

*
o bgwal ety d usdll

e Mopb Ly s @l LT s ompll 0, o1 dazmdd! e — &

e ool e b vas 0yiey Tnin Jisa Y1 8 — &

RES T FETR] R PR ) RSP 1K SRR CONE TONOM 1 | I GO | IS

e p b Jasidio e - »

.o .‘ . .
o ok g daisas Byl Gl e —

2. For each of the blanks in the following sentences, choose the
most appropriate item from the list which introduces this exercise:

34
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L

. ZJSL.,Y'L', .J,,J.’ DU 8,0

o oad AL bl Gl flasY) ke 4 ploa )

day — O

SNNPG | [FCURNT) R PR CFUU ) IR L IS | D ) [ R
Castl aEd Ll e et ) ey a2 ) o s
RESUOIN ) PO S| PSP o) I ) R

VNP | UML) SO, G

SCONT U | RRVPRCHS v IR IV e ol )l i1 _ b

cdasdla bl Jeo,l, s ekl e B 4 oS —

3. Use each of the following words in a sentence.

.- ’ e

e,i‘c.@ad.)u‘).lé")’l)..‘z_n.'bstwé-l )J.:Jl
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Notes Lesson 130
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Lesson 131

Ja ¥ 1!

The new vocabulary items

First Passage

study the following passage thoroughly.
are underlined; relying on the context and on your knowledge of the
root, try to guess the meaning of each item (the teacher will provide

the meanings which you cannot guess) .

[ [
YAY Y Rl 4 e Yo JUI st t e

. ] " K .. . M
s Ogmrma” pe b bt A el e (5 e (5 iy U1 )1 o

iy leasw Y1 sl e 3y leadl pus i Y1 Jy il ooy "p LYY

Jsadl oo o 131 &l dllyy b ouis jmo b (5 coml mes ) ) J By

O P | [RRU POV ) B V[T SRPINTL IR | 0 PO T SR PO )

cladlpas Lot oy o Lpme G lpl e BOadl adis i o1 7 aliad]!

"Ll o e 1 G5 Galatl L L

m"“:“)l) ‘l"*“ " os- '- ‘l g - ~ oo
FaRs -9 g’)"d"““"l'l..... dr-u'-ﬂb.aﬂ‘hra‘[’- ‘)Jl |)..g-ouu Jl’r—t

. ' £, . e . ‘.. .
ol porn It bl aly o & LIl Gls L )l as LN 3 21k L

GOV | (VU R P U RPCOWS | 6 PRET] PR 38 PRC1 ) PRSP IPEY (e

RAVHE IR RSH I BERIIN
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VI AN Glo e

Exercise on the First Passage

Answer the following questions:
1. Where did the African president hold his press conference?

2. What elicited the African president's statements againstthe
imperialistic countries?
3. What measures did the president ask the African states to take
against them?

4, 1Is Uganda an Arab country ? In the light of this fact, discuss
the political implications of the statements made by the Ugandan president.

5. Is Uganda a member of the Organization of African Unity?

6. Is it likely that the statements of the Ugandan president express
the opinion of other African leaders? Why?

38



L-131

First Review Exercises u‘)y' 0n ‘rJ‘

1. Replace each of the underlined sequences by a verbal noun or an
expression containing a verbal noun:

Lwle 82, Lad 1 i g3 ! SPUEVTENTITR

el i, W T i el il o

RFCORRV[ VS RO QTR CEI T YoOW S5 WP [ PSP TS

RPTKIE Loy v paed 1 Sl el Lo oppins q:J"-"'L:‘:SJ' el — o

e 9bh domdl e La ]l SV el Jsu 0 =

r.‘,.l:-aasa.ﬂ |.J.n...JL.n.J|l.._.,

i )-'-“if_g_ plallp didl oo oo —

o e dadi Bt "J““)J”L”w|d)““'t"') -z
I o S o1 B e et i

copidt I by ) S ekl Jy W pa i, —

2, Each of the following sentences contains an underlined word.
Use the plural of that word in a sentence:

o aghed, 2 90 aule &fgﬂ‘umH' -

G podl i ppandl Cpa s pdi i - o
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.)ll.. t’-')-’-eys:‘ald).a. —_

. &M‘L‘YILE&._.JI o dm el Sl G, 0

v B2yt A eIl el e g V35 b —
AN} ST RFR TN 4 POSON | ] g

o darbedyes 10 6 Gl

bq

o Gl sl e 5 q-" ylles

RO SN TP I PO YO St S

3. From the words in parentheses, select the one which most appropriately
fills the blank in each of the following sentences:

(Jadle Jluloyl

NNy SU IO YO0 SRR O [T STIUN S RV O e
( Js oo c.t:"S e ololas )

u-,! &5)":"“ u’ :_,-')-“‘” CﬁJAJI (J‘Z-;J’MJ‘E;,!J—QJ|M'_— — D=
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(hp o w0 Jam )eo,id] eIl el

((Sele oSae 6 505 )edanlyiin $ tua Wt Qo dpandl e

PR VA0) [P VOCL NSRS DU T VAU | [} DS JOC. SRS Wy | B Y] RS
( 2

oW mds —

(b ¢ Jude ¢ gl o35 aigd ] bpmad L en 1 !

Jo —

¢ Gleadl Ga e S5 ) el gig.:l.a:SYI@é)J‘MQ"
(i
(pedbe aladl e Gl o e Gl pbled —

aken ) . as Bl e el U Lotk . JUSREEY SR

( 2 pomSe ¢ BICHOWS

(s ¢ LS ¢ iz ) . asball o Jladl Jyo ST
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First Homework

NI ety

(1)

(2)

J
ols

el

(

With the help of the tape, study the first passage thoroughly.

With the help of the dictionary, supply the missing
information (including the gloss) for each of the following
items. The glosses should be restricted to the contexts which
occur in the first passage.

( gladt) o3t
( cpladt) @)
( : pladl) LG

L B

. &)LA.J' ) J955
( sg ladl ) FYIre

ks
( : gl .3:);5
( pladly S
(2 oel) e
PATRCT e

sl , Wl
Jssy
*

-
e

-~

*

See the grammatical note.
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t

Grammatical Note

The verb «.sy is usually followed by the agent; unlike other

verbs, ‘= 1is not usually inflected for gender:

A TR ;

o hore 'Tt is necessary to go at once.'
>

o JEJIALLS Cong 'It is necessary to write the

- article,’

As can be seen from the examples given above, .y is literally
translatable by 'is necessary'; often, however, the idiomatic transla-
tion includes the word must. Thus ‘;4535151“;gé' is usually rendered
as 'You must go' although the literal translation is 'That you go is

necessary.'
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Second Passage qgtleadl

Listen to the following passage. You may stop the tape and use

the dictionary when you encounter unfamiliar words.

7 2 - > ‘?"’/'20 ,.’-
eIl ey Gl Gradl ey W2 Jltdl e Lo sacal e ads 0 Ly

2
2 Joé

b4 - »
o Jthdy Gl ol ey 9!

7, N z [ e &.‘ - 2 ?
¢ La..‘).)‘,,.wlj o.n..,)b Craany laJlm_.-..,.w, m_.b‘ LJ),.«:O-%L.‘M&J-G:‘

ten

v s 7.8 :/ & : s p 4 .
» P 0 - Loe, N . & - I . .

s 22 »r0 -

Ed
e S

w, -4 et .{‘.. - e e, .. 247
‘L"?-JB‘.M . LJ)'J{'?‘-'!Y}AI‘“O‘;..)'S'%’A"!““ CL‘S Lg),..w CL‘

o b2 o Lagtis,

-

. & - e ® S
L’lejg_‘u “"’J‘,.b L(,-—g ()ﬁ) ‘ w—J«J'V).&J'U. L_')).a ._’)‘_S«a;,{?_&:
w .70% A - w o3 . &, -
R I B I DT LR L VRRT RN
. - 2 ° - o s T - . _‘ > > :’. o
L(""?-‘)L'C:’-:JU‘ Mu),,l.k:’..a.adlﬁl.(,.;[s.« oS e ¢ ng).uMl;’”“ o

. oW . % 5 ’ {. . %7 - q
¢at, et Gl YN IST 0 o 3By o8 L oDl s et a It
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J_Jg! Q};ylwuu sl wt..un o La)) Ly

o Ul Lo 3
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v i el Jyadl
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Exercise on the Second Passage

For each of the following stimuli, select the most appropriate
response:

1. Syria is located in
(a) the Far East
(b) the Near East
(c) North Africa
2. Latakia is
(a) a bazaar in Syria
(b) the capital of Syria
(c) The largest Syrian port on the Mediterranean

coast.

3. Syria's weather is similar to that of
(a) Seattle, Washington
(b) Phoenix, Arizona
(c¢) Toronto, Canada
4. Damascus was for a long time the capital of
(a) the Mongols
(b) the Umayyads
(c) the Hittites
5. The economy of Syria depends largely on
(a) agriculture
(b) industry
(¢c) tourism
6. Syria's merger with Egypt in 1958
(a) lasted for a year

(b) 1lasted for three years
(c) 1is still in effect
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7. The population of Syria is mostly

(a) Moslem
(b) Christian
c) Druse

8. The river which runs through the eastern part of Syria
is

(a) the Tigris
(b) the Euphrates
(c) the Nile
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Second Review

1. For each of the blanks in the following sentences, choose the
most appropriate item from the list which introduces this exercise:

<9

¢ w -
) PO i SPRP IV I IO | RO PN | IR JUR IPCIOPR SOy
1&3).‘ Jaa:-:vc Mcc&SJ|1¢«|j.j4 :';-:)»c O C"’J"

s . )

S I L | I gl Kl ppids — |

o gl e 8 ol ydar — <
UV TR DS N5 JCR] L) BV ) JEORPON ) I E-
oz g 1 e V8Ll o] gy —
o ol m B = LS B -

-l

R JOFS P FCUN | I SN Y DS | PP

s € s
L’);' ls_,).h_aa-.ua' -9

-

Jaidll SLES oy s Bpan] S5 ool — €
- L=

c%yq_hﬂgwl J)Adlcﬁgg - b

e 5l

4 [} .
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2. This exercise has two sets of items: the first consists of
the forms listed at the beginning of the exercise, and the second
consists of the underlined forms. For each of the items of the
second set, choose the most similar item(s) from the first set.

-

ua.».....uS.‘l‘ ),.?JucQS.J|Qa‘QUnJ«a¢OS‘-G‘L&

¢JLju:‘cc-iS)'taif&ochcU,J;L’UJJari;; W',—"aw‘t JL"

U UM SR SR
v G i ¥ o, o daadl 0 — &
NPT NNSVAN) U R | PO, S
oo, idj@»:&;"gﬁull_‘;)_d"éiulwﬁ —_—
o lies Q:;:éﬁuvﬂ';ﬂ-%:w-?c&x -
. i{ Lot o Slpenad) Syta —
o pladl Vim sl O —
o i ) L Btpnnll e — €
C b s g5 ol el —
VOIS YO PR UL SR PR K| PROU | I JEE,JCRRY
Craab o el o8 - 8

C T Lo bl Sl —
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3. Use each of the following words in a sentence:

- € " .. ¢ w
L B ,_}2.“: LY Dosie ¢ Ju s I M:olh,.»-cr.'cos..
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Second Homework

(1) With the help of the tape, study the second passage thoroughly.

(2) With the help of the dictionary, supply the missing information
(including the gloss) for each of the following items. The glosses
should be appropriate to the contexts which occur in the second passage.

( ppladly G

( el 4

ol oo e = ( ey Ladly Sl
Wt spladl) R

( : el Z.s;:"'

Sis

( : el G353

( cenl) 39S

sl
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Exercises on the Two Passages ol e oy, b

¢
A. Exercise on the First Passage s Wl o s —

s Js ¥l il s e Vansian 3 W1 deod ! Thsd) e el e

gy bzl iy o ety el 5 st ()
a3 g 0 Sy ml 5 et Y1 (Y )
oy lazan Y1 Jy il sl e Y e 1B s I (1)
e oY e S0 oo o gy leaza ¥y all o1 JB uelomt 1 ()
Vi laza Y1 s il e e B adl e i, Jsie ouelmt ) (o)
g9 Gl Jy ! S 11k zlewdl oy Jsiy Gunlome 31 (1)
o Ll
. oldlgann Y L“,;a,,,-;iu,d b sl asihll (y)

o L sl P ol UL g e e lomt! ()

g Wl e rje0

s el degs e Ta can 3o ¥ dadl o0 XS UST O
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ceee OV e paslpll aus (1)

oo omp Yl e,ally WISV ()

ceeee Gdeo P EILYEY e (o)

cee e ds (1)

e by Leans @l deoledl e (V)
AU SO | WPOR VAVIN ) KSR P

ceasee pladlelais, (q)

ooooo&)-d'djdlqh)’ﬂa;»(\o)
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Vocabulary Exercises o lo,adl g;‘tbﬁ)L;

1. Replace each of the underlined verbs by a phrase consisting of
;%pw and a present-tense form:

s .
S N FORESL N -1 G VO] JUW PESEPIR Y RO

v by dl Gl juadta gl e dobalews,l — o«

AL bl e ole Wl aly b eied) JWET

o Leedb) U oo sl uss — 0

v Sewad) Jso 35l I il — 2

v psd el bl

Ol ot iy lia ( Appadl Jydll m Lojiy Ly g sslasnd —

2. Rewrite each of the following sentences using the passive,

instead of the active, form of the verb:

vl Wl aadl YL oyl Louy, =0g; — |
¢ 1L A (Y Lzt L),a.c;;hj -

o bl oy yes BadaIY S kg cpadl 226 — =

ol ¥ e Soadt il ens)) o

55



I-131

3. Listed below are sets of words. Use each set in a sentence:

lw ¢ L
;S! ¢ i ::tUL —_— -
).L_. ¢ h\;'e. ¢ CL. —
€ ]

ool € G0 e WIS e e — 2

w &
.\}"Y'c.l_?._}| € "’..u."“ J -— 9
el Gop ey — 5
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oAy gLl asdl ) W1

Lesson 132

First Passage J;Y I !

Study the following passage thoroughly. The new vocabulary items
are underlined; relying on the context and on your knowledge of the root,
try to guess the meaning of each item (the teacher will provide the
meanings which you cannot guess).

YAV T d D3V 08 g @ AL Ll s ey JEIT asd) t s

JCRE S SFSMU N B NUCTS RO | -S| BESOPRT I 1 I SRR PO PR O

o ot ) Sas Yo

S 5—:)-“'.):' e WSyt Ty g toldlab b s by ;0 ol

. ku)Jd‘ S Y‘ L«Q) [ gﬁjmel E Y‘ ) L;.JL«Jl gr‘JJ|

busy o d.::’;::)-&d)}-’ u’m-“‘*“r-(f:'l"b-?" ')-;:’c‘ C)EJ*Y' ‘L, 08

———

w € ;|‘
o e G OV LS o E

Al ad b belon Y1 oo e oS, JJploa Y1 5T J5 Ll il et s,

\")

D P w

58 oaz,alt JywlGige Lo s 1 RS ) Sy d, L
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. oo lJl

ot Las¥ledall al,alt Jyul Slebloa ¥ il ua, Jotadt S

™

i I8 WY1 ) TREDT gy Ludy e o2 32y adl o Lppgaad! 0131

o Seadl hadl S

30 82 SR L L R o e oY1 L gLt A
Lpapn 0555 ¢ Gl Lo 0 o iime ety &85t Jp ) Los 5 Gl
¢ Gl oy Lal (pantaull _L’“_“’ Al Jy ! Lot b ol et ¥l ~ Ll
:,_.._IS & peelsa! d_'{“-.u—d'&‘-‘d-“: T L R
. qiﬁﬂl
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I e

Exercise on the First Passage

Summarize the above passage in English.
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. ¢
First Review ujﬁ VYl oan Ladli

1. From the words in parentheses, select the one which most appropriately
fills the blank in each of the following sentences:

(Bm o 0 aagd) omladll L LIS (1)

c il L BT e gl polad! o s s (<)
( el ¢ apasdl Sl ¢ el

( r:fi’i- P r.:-.s- ¢ .'a..:,,:. ) . ? 0 ale J)J L,Jl__ :"‘)“’J'u“’)ﬂ (=)
¢ e o yeaie) § A edleUleadl e L el bl Ja (0
( ‘lﬁl

(=)

(b ghr o de) L elBBed bVl g,all (y)

¢ bapyiaadl ) . B YT E L Uy W e @ usand | a el VST ()
(B,madl o 35S

¢ ooladle Joidl ) v oo Lt il dholodt ol e (1)

(e

(a8Ld1 e deadl o izl ) o 3usBll op s

CEVY) i ey B e ks e e o 0 G S ()
(“losdt e OL-“‘)“

(opmdidl o yamdl s padl) Lo padl i ()

J oS bl yas (b)

(3 e Jakd e J3V1 ptn) + ) e gl etdlpe s ()

(Lolo e bl ddy ¢ aeGBytt T da ()
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o lhodl s ¥ e K ity e g (or)

( “—’J:- ¢ di e k)
(ol des ¢ Ld Joa o Lotz ) o aZashauldze “——-—ra-é}- (&)
(Jh ¥ e ¥ ¢ Lus) Clgﬂl___z.fjwlf‘,‘l (S)
o By 6 ¥ eIl Al el e VLS by (p)

a 4 - T -
( u).:.ﬂ ¢ ;Ln.a._ ¢ t..a:) . d..,,n.'cﬁd....b" 13Lall

w &

e thal S Y JW pegus b OY ———— 5l mil ()
(0ntee ¢ 3 ¢ Aloaiun ) o 2y 0n
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2. Each of the following sentences contains an underlined word. Use
the plural of that word in a sentence:

ceadl Tae 5 She wp ()

v pale bl aay SN dyd !t Jinel ()
?34,@1%_):__\.1:‘,‘.”. (=)

T e dese Ll 5 ()

el Sludl opann (2)

RRTORSN) 1E5) Y VOV I} YPCOR SRV WU )

cple g A ()

o pod! pd ) Slove ()

L ST T DR P D PO JUVOUR I6 10 LR
cJEINSE Gl ()

¢ Jcs Yl jas Lbl. S ()

T eIl il o L (J)

o asbiadl B a Je o (¢)

o tppad! el il By S 4oae (0)

¢ Jgs) u_c._L_.c.;m_m (o)

¢ el blas al il G BV ES o) Jo ()

v it i o a2 @D el sl U, izl (5)
? el sttt e Ll (S (1p)

¢ Leodla alod 8,00l aacou g Wt L2 Yl s L (5)

plaa ¥t G oK BlesS ()
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SIS TR EN NN

(1) with the help of the tape, study the first passage thoroughly.

(2) With the help of the dictionary, supply the missing informa-
tion (including the gloss) for each of the following items.
The glosses should be restricted to the contexts which occur

in the first passage.

P

( ppladl) sl
G s pladl ) )’-“"
S igpladl ) 5ba!
ot ( : poladl) alsl
( rpladl) !
( rpladl) o
( e ladly  JI55
( 2 geadl) Gnops
(' s pladl) G5
( ) S
o pladt) LB

63
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Note

Listed below are the months of the Gregorian calendar:

Egyptian Syrian *
)s/t;/ L,.«l.“:J' u,:lf 'January'
» s LU 'February'
u"g"’ )|:;,T 'March'
J.,)j O Lo 'April’
X JE——
s o
J.L_..’;I ;_.T 'August’'

D e J }L i 'September"'
)_',)’;i"! J;'aﬂ | w);:;: 'October!
)-;.s,.’. & ) u.-f)"}:: 'November"'

g D J;'E}l | C)): K 'Decenber’

* Used in Syria, ILebanon, Jordan, and Iraq.
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Second Passage

o1l

Listen to the following passage. You may stop the tape and use the

dictionary when you encounter unfamiliar words.
& ¥, poT) . .:w - 3..; .o
Bloy ¢ Lisl o a8, all alball Bhid) 5 ol al) fan & pen gl
5 w 3 € rs a :
JL.&J'L-). Lb.).h,gj .c‘;f :J,_ug.‘uj ls..“uvbj g.'l.«uje.uz.—l.a L__’“}"' Lf-.-.’.L-...
%, Lo o i A M w . 2
Coiadl g mm V1 St 52 g ] 35801 It g gl o)

12867,

s lllin, a wep,ityy JLadl Jlogadl e jae b ddd! Je e
Js 1 i) Sy o B S0 s Bl Ll jio cnejp )
UV el e iy Sl D e L St
L LY ET L e b e 0 Saa] e D Y e i
ST T ERCS OO EUESATTPORTONNE Y JE S RO
Sitye g oo I gy Wy L L Ly i1 ¥l
c ol opadl gy e RIS ) ey Bl gy st LBl Gl LRI e

AP IR ICIF YRS IR | JRIPC] IO Lo DR DO v JY | I JESA | I
PRSP I SONT

s € » » . ;.

PSR | P T[RPRPL JUSIY VNI JSY Y TS CHON I EONE WA P
byl pn ¥ ) Gle g o 135 a8 ¥ Pl s L) apad) !
G I o L s 1315 i) G e )t o Ly e BIWIS
¢ oo I o d U s 1315 BB wis iy 5 1 ulpdI) fliy o algnd)

’ 1 w .? N ,.E .’.
o Gledl Lldlidpead) el w
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Joidl Sl 0l 35, S Y1 2l s T2 Lo Doy« Gl Y1 o
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)&L.“ LuE 9o Jonyg . u',«.:&"—)t.«d“d Sau .JL»:’;Y' u.wm‘ L‘:SJ

L‘,ﬂ.l&hd).&]'tawjzj;yl J‘d}&d—“ L,S)Aa\_d)ho.«'l
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Exercise on the Second Passage g;tdiékdl oS e

Answer the following questions:

1. Where is Egypt located relative to (a) the Mediterranean, (b)
the Red Sea, (c¢) Israel, and (d) the Sudan?

2. Comment on the statement "Egypt is the gift of the Nile".

3. What is the capital of Egypt? Mention some of the most important
Egyptian cities.

4. The Arabic word C)U is often equated with the English term
peasant. Does the above passage suggest a reason for this fact?

5. The statement is often made that Egypt is rapidly becoming an
industrial country. Does the above passage support this statement?

6. How does the educational system in Egypt differ from the
educational system in America? Are there some similarities between
the two systems?

7. The above passage states that"the history of Egypt is
synonymous with the history of human civilization". Comment on that

statement.

8. In your opinion, why do Egyptians consider the Revolution
a new era in the history of Egypt?

9. Many Egyptians claim that Nasser was the apostle of Arab unity.
What statements in the above passage are reminiscent of that claim?
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“ Jta - |
Second Review Wl aanl,J

1. Replace each of the underlined sequences by an active participle:

D1 s e e
i L) e | angSnd | b (5 6 01 it JB 150 (o)
T !

e by adlede B al,allaall g o W1 S YIGE (o)

ed,2 ! Gl gic..?}'.:, g:jl Fiz 20 (5B e (B)

¢ JLT3 il ot g 5 1 5B e ()

? JBJl tas S il e ()

rCONTR P V) JRVSC VSRR B O Y RO PO g.ﬁld..‘é,:JIJls ()
c Bl e

Jpadl q’ )_&Tc.,,., Sleadl Tae eSSy o Ut plaa ¥ Jan . (_L)
. r..:IEJ|

2. Replace each of the underlined verbs by a phrase consisting
of 9w and a present-tense form:

el i Jyad e, S e B K0 esl it ()

i adleds a0 BS,edl (o)

o b bl Lol . qug:..J.a.s (=)
Pao Wl aan by Lfa i oo 2 ()

crasbElo adl S ()
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o ot b Sl aig S (5)
c ool Bl o LS ogeme sS ] ()
.z%»amgwt‘;,mna,;g|ié (7)
« g9l J’Wﬂ)}”:’}‘"_"" (+)
o dhemall il Lot & ()
.CLwa::T‘LLaJIiB:I (I)

. &;g.:.Jla.j._mggJ»;*Ugﬁu;i: (J)

3. This exercise has two sets of items: the first consists of the
forms listed at the beginning of the exercise, and the second consists
of the underlined forms. For each of the forms of the second set,
choose from the first set the form(s) with the opposite meaning:

. 2

M “5 . . e
¢ oo ¢ ;JJ’:L:»( o Jﬁ_g__f‘k-ib.i.a‘ JS‘( Ot ¢ U'CU"""""“|

ezl ¢ pB1 ¢ Lol ¢ @ done ¢ il

R ACH IO VR NPT 0 STEL ORI

. rJ_n..‘,Ler._L« (=)

c sl gl (o)

LA, C| RESPS A R

cern 3 Lin Lo ve Lulow 8,00l el ()

c fheall gyt dis ()

e 5,25 pel (P ey I e S YT ()

pladl 1as Jyad) e 8pS e LS B pleaxl ()

v o Rl 5,25 s 1 01 sl) S ()
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Second Homework s ! g;};dleurhﬂ|

(1) with the help of the tape, study the second passage thoroughly.

(2) With the help of the dictionary, supply the missing information
(including the gloss) for each of the following items. The glosses should
be appropriate to the contexts which occur in the second passage.

( g el al
sl el

( p g Ladl) 25
ol

asdl g

( s gy Ladl) S
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Exercises on the Two Passages oradl s oyl
[ 3
A. Exercise on the first passage JeY el e ppes

Summarize the first passage using the CSSTS system.

. ja w . . -
B. Exercise on the second passage L_;‘L'-“u‘-'-“ u-l-" g~ —

s IR s Gl tasias B dead) 3 Losd! o emad ! e
.)l_k.‘ﬁ!ol,. ols &ty 4 g pasl ) aces ()
o Gpes e P g*é')‘}“):s" (Y)
casbiall olam g lepkie LU e lis Lt 8, 305 30 jancd L (7)
c W e biyndt AV el o g flae gde (€)
compladl e S astlncab el iy (et jan P8 pill G clinl (o)
305 ppp S beebed las ja Gl (1)
S0k 2 padl s 3, B I S35 Y g0y pbe ypae (P pllcal Lus (v)
) B
-“"")M&L‘*)“ & U (A)

cany i)l Lo, L 3y jae (4)
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Vocabulary Exercises elopdl e o)l

1. From the words in parentheses, select the one which most appropriately
fills the blank in each of the following sentences:

J,Jt.‘o.. 3:»; U’ ]

(*lee oS e leasil) o !
(b0 b ol e %) "l mwn bl is L i ppelizand g il

R R R R Ly e B T RUL T
( s ol JsY1

¢ ads B L) . ol Ll Pladl Tis G Lol ! pigd ! Cilus,

(.,.J;QISLS, o W

( skl e T 590 ol ) Jret b 9 LIVD WL JRRIEFES

S CIPR P IPRCF TR Tlt U] BN P P . SO0 CUA PP

(Bt G0 Aob) « ik Gl desy Ballle b 0

(ol Tae ind) T mlltlgllplanl &

(25 ¢ pogs 0 oo ) o cntd) pdan, W W Yl aagSadl

v AN B O cnm iy ¢ Gl B e ) e o S i
(3 ¢ e ¢ 2t s)

((olwle olasl ¢ B ) a0 Jldoy— J31 i
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2. This exercise has two sets of items: the first consists of the
forms listed at the beginning of the exercise, and the second consists
of the underlined forms. For each of the items of the second set,
choose the most similar item(s) from the first set.

- - :
e I o gole Sl Glid) pa s om0 IV 0B 0 s

w

s o bl e 6 gl 0 23,0 e e u“;d““" ! 08

¢ ppel! ol e L s

. 3.4,»'&,}".:&:3"&;‘.3&2' ur-u)a...‘l &% e B L] :)‘I &_L»‘l

Loty epd gt 1 SR

gy 1 s alinl sl il lo LS 530

o dadlplea Yl B Al bl ey 5

g0 e ol JaT Gy aadl G Yt Lt iz,

S T PR oW (- SR PP T R BPJPS LN PRI S JEOVF
+gs all

o V5aaas WAl oL

canadledn G lasly LLslasl Y

s . [
3. Listed below are sets of words. Use each set in a sentence:
el ¢ Judb £ (H

w8 ¢ LL#J|cé-JB &)

P e
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bt ¢ aean o0 &, a8 ()
o daing ¢ ebdi o o ()
old o Jladl Lt ()

dely 6 adl $6 e s gb')" ()
OBV e e (U dlia,e ()
e o =l (b

Wy o s 0 LE ()
ol ¢ sl o B ()

gbo e s s Joo (J)

Cleeg ¢ Bad o GE (p)

asldl e Aol s 5 (0)

»

B € iy ¢ =S m) ()

15
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Notes Lessons 132
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oAty ety asdt ., Wt

Iesson 133

-~ -
First Passage Js ¥l aut

Study the following passage thoroughly. The new vocabulary items
are underlined; relying on the context and on your knowledge of the root,
try to guess the meaning of each item (the teacher will provide the
meanings which you cannot guess).

PVAYY b Yy P aad) LY, JRI asdl s

S biyodt iy Lol

,S.__J&iﬁycr_____- cn:‘Lug‘%yﬂj .Lch;igﬁ

e el asld ! peia, — f LY Yy Jds elld! ae e — v 1 S Sse

il s ¢ deelend aea® J31 Gl a1 e boladlide ol *Lee e

g6l L St ym agy it JLE, WY a6 bt T Bl SLad) 5Bl 5yl
| ° @sﬂ'

oo d Vs Vo Gpadt sl 3L e bpd Bk o il e o)
e S Loladl o i Yambpadly Grad! LGN Ly ol @1 aedU 5, L1
T NVUITS | & W) PSR S S TG 1) O] [Re e ORI JVCIR I

e Sge I deslent wan a0t Jsoy o biis

By gedgad Bl 5 ccfe g ks ol _dudadledn jon U5y

LS o Sege f e i, ol s e Ry ¢ plial e S

NOWCORIIEN [ PPN | RS S PO | ST PU| S SRR | R W] OO PYUSN

JEladl Jgm ES15 i o e B ol 1 31 800 g | 7 b7 aI By cd By
— 77
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- . w - - € .
o lobuccl L)y ¢ & padlaleYlc s

aobdlasld]l S bobad! gn aotidl audadt aias o1 Sl e

Sty JU, LIt Bl Boladd) o s ¥l audad! Ll aag

PP TOR R I EVFTTIN O ALV WA R

ol — poel! b aay AL asll (5 oy 5 el ! aigl) By
SIS e @ dlinet $ o8y ¢ Bifygs jla ) —alle sl A

Sy LsS il Sang e JLa, L) e Giedsad ! a3l YIS, L

@

25 S NS pead) Jlpa 5SSl Il Wl B3l Bl b

R

. . - . ../‘” 6..’ a” {qgn
k.’._,.aS,g.“ Jl).:;-‘.:..;l;:__dJl, wﬂ'M'%‘)&“f)} QE)|M

o

c gl st
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First Review u.!;}l 3an o)l

1. For each of the blanks in the following sentences, choose the
most appropriate item from the list which introduces this
exercise:

Cositle 6 5o B b gt olall el b ol o — |

. B
k.af

IV B aansdl s o ladl o L 01 65,
ol s Il e o5 5yl

o B S i sl e S egSat i La
. el 1w raed |

celoadietsl pliaaltatld e et

- w

: w wo. - - ¢
ag o jetiw Lo bwc;.l,,,o»,_ll)b, o Lt I
. 3»}]'

CR SV bl Seki 6 dped ¢ Gplanadl e Sl ksl _ L
C.'alj' . ¢ “ . ‘ ¢ gu-b‘}"z ¢ G'u’.. ' ¢ ‘é:’. ‘ ttﬂ
SUTN ] [P OV R ] 1 PIUUR IRV

R S U ST R
ctladly Gl Gally e ) e Gy T el

¢ eialle L aske LI K,

9
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ctall Jws 5 1as ol Kl
el Lty o ST
eI g5, L
ol ! n S e iy ol LS n
c Dl s o e S K- Y

il eyt ade e gl

c o) 85,k

£ . . L2
C ol i a e Yl

2. 1In the following sentences, rephrase the sequences which occur
within parentheses:

C ol etd) e (SNl ) I o = Lk T ()

o (Ohob Loy e wle ) LET Al JL o 3 sos) oS (<)

(o eT asl ) alle oo b Ylnal b i (=)

(o e Je s Wayheg byuian ) sl dis B (0)

al el Vil et 5 ( opebed ! Ll o 1 B adl) B0 ()
RPCIOR]

el S BB L (el g aaad) (5)

c bl e P g lee dadl g ol b (=eB) ()

o Al dy ) e S (B asliall (e ) ()

el e by Slall S (JGS) aks e alle (D)

(L QL shll O ) Sy e iy a0 45 oV Jsla ()
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3. Listed below are sets of words. Use each set in a sentence:

e ¢ un ¢ Bl ()
Jla ¢ moli ¢ jumi (o)
s 6 o s gy (=)
a6 o 6 e g (9)
L Y
St e ,ha  (9)
s o e8I ()

WBle wlbbadl (£

G ¢ e (D)

CANEL N Jgr:w ($)
)

bis s plle ase o Ky (J)

it ¢ Ly s T ()
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Exercise on the First Passage d;%ld;;u gﬂ‘t)iﬂs

A, Answer the following questions:

1. How did the Egyptian delegation travel to Moscow?
Who headed the delegation ? Who met the delegation at the airport?

2. Describe the first afternoon which the Egyptian delegation
spent in Moscow.

3. Were the talks reported in the above passage of great
importance? Why do you think so ?

4. According to the above passage, the subjects discussed were
"matters of mutual concern" . Speculate on the general nature of
those matters.

5. It is reported in the above passage that the Egyptian
ambassador to Moscow attended the first meeting. 1Is this fact
of any special significance?

6. Does the passage indicate that the talks were successful?

B. Translate the last paragraph of the passage.
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v‘ ..
First Homework Js¥I el sl

(1) with the help of the tape, study the first passage thoroughly.

(2) With the help of the dictionary, supply the missing information
(including the gloss) for each of the following items. The glosses
should be restricted to the contexts which occur in the first passage.

( ppladly s X
[ IOE
== ol

6, ME) P M S .
CEX b ST G e Yy
( s eadl) I

( sl ) e
Sl SV

( : gl 55

J;_;( s gyladl) 515

s r 9%

flasa, ol

a3
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Exercise on the Second Passage qétﬂ| ]l Lﬂ‘c&irs

Summarize the above passage in English.

84
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Second Passage o B aadl

Listen to the following passage. You may stop the tape and use
the dictionary when you encounter unfamiliar words.

b By 2B e w Db ey B e B e GAI 3
e by o basle Blesl 2 woYy Js cdBdl e o all L o]
S AL I e al ey 4-“‘*-934:9'.;9-6 ¢ 0ps e b o L]
0po8 oo Orpdondly Bua i) (B 0 S Jle L gy 8, il Ll OO

“: . 2 . t w I
R O e e lS .Y NG I VO O

- . . -3 € & 9 -7
.rngl QJL uaL._“j&J.a ul.a 4.1.“0)0|0)..9¢,~ Cﬁ,ﬂ..gﬁ‘ :\oa_.o&.‘..c o==9

e - » > s . . oW, 4 15 ‘ o

w ¢ .o

[ - €. - — -5, 2
1 oy L Ol radanad ! 3o LB ¢ 0l 0y SN RV 5

O VOV | 5001 | [P PRPEY PR POV SRS [UREN VR, OFUL B IFUR TORW | P
0 (IPRNCINUNN| [ DIUCTI [ JOC. S PO S PN NV DG (RSO EAPC I
& & e ad e 0t (A0 u—’u L., :)".:J-—‘-‘ 0B !
e Gt Js 0y 6 i Lt e d] ey B gl ! 1 el A

c ol Geoeiall el B MY oy o L Lol s

- P | 3 . —~ fu) . . . o
4-‘#.)...“ W 2V L,....JluLa,,,_yL LJ"")L‘D ‘ljg-‘mh-rvw’ L,éj

Y . & - 2. . " 2 w
86 . &
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Second Review 2*;UJ|aJu?[FJ|

1. From the words in parentheses, select the one which most appropriately
fills the blank in each of the following sentences:

((d9ks ¢ 30L ¢ Wy ¢ :_;,U.gﬁl)j;@q.ﬂdj:t;,__rfw (hH

cLLs e Lhy dasmgllalyo il poadl lus G, (o)

(¢l
(e 6 B 6 Ol Joompy ol e e S G ()
(0oL ¢ Ot ¢ cpime ) o e 0N ()
(Pl ¢ bae ¢ asT) o faall 5 el ey (=)

(uc.:la.,‘ :—LMM‘JLQ) . LJ)L.J_.___.JSrjb-M ())

(Bl ¢ Sla ¢ Gl ) Iyl e S K1 ae Lo ()

e Pl ¢ el ) o Wldl D s o ——— e lda Cpae (1)
(%l

cliwd gy Bpadlede Gpbe g s, Jeesias (D)

(=

(wos ¢ Jola ¢ by o Jsua. IS”.:I @ aslall ()
baS Jaas (d)

(X.JISAJI ¢ dall e asydly L paal! C‘-"“';u’ L,J;>1l
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e

.o 7

2. Replace each of the underlined verbs by a phrase containing g

and a present-tense form:

o pladl tio Joyidl e athUPEﬁs)iﬁ'lb.Jc;gﬁgﬁ (hH
cebldlale g Kl et (o)
carpedle s Wl e o oa bl oS Y1 psl (o)
e pldla e L;”..a.az;..,l).)gégs.l}:ﬂl ( 9)

o gy oadlauludd! eemidl 2 (®)

e bdlt et o IV oy ()

v aslial! e olepay Kol pLldlewsls (7)
S |§._.45,...le (+)

o asballon i ()

. e LYl &;ulﬂglaaﬂ|Jy (<)

DL Gl ol 6By ()

caoadl i ) Sl alen il Balllcmss ()
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Second Homework ggtdl QA}“J|%“?EQ'

(1) With the help of the tape, study the second passage thoroughly.

(2) With the help of the dictionary, supply the missing information
(including the gloss) for each of the following items. The glosses should
be appropriate to the contexts which occur in the second passage.

(o pladl)y el
(. plad) e
( ,eladh) oo
( . el U’L:“g
( : el -2

( . el et
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Exercises on the Two Passages omadl o oyl

.’c w
A. Exercise on the first passage Js ¥ pdt e s — )
<
cadlalll Y oo

¢ Lwsy ] Grad! gl L &S (1))

® Saddl Wt Jlasut 5 o8 e (1)

T sl Bl sy Sraddl Wl e oladle o e (1)

¢ e bolaall odnal e BT (¢)

¢ edgmaad Vg B! i b s, BUS Lol (5 il do (0)
feloladlpgss. o8 15L (1)

¢ by | BosSnd by B pandl aagSad ) 51, paa e boladlesl Jo (v)

¢ L becl 1ok ¢ *lialliolocud! g (A )
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B. Exercise on the second passage BT A -
P g gl (o s — <

. alyedlaall o Lall Al all
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Vocabulary Exercises e lo.adl LAS‘JﬂJLJ

1. Each of the following sentences contains an underlined word. Use
the plural of that word in a sentence:

w

. 4-‘-“5-!|rL.,.o‘| r.Lde‘ |)'.'; 01 et oo u_‘_‘Jl'a_] Lw)g'_‘, e | (|)

e o Ll S Dot S adlcoladl g (o)

o Grandl 2L GBS YS foad) Jlie i) (=)

o i sl LS i i ol S LN ae WY e (BT (o)
aole 3l e o Seuse ) Gpad! il S (o)

[
!

s omel s 5 (9)
o e gl p Bl e Sing e Jls, Ll plaa Yl o ()
?'&.,.aSJ‘Q',éOIS L:.Mari (7)

2. Rewrite each of the following sentences using the passive,
instead of the active, form of the verb:

e G el e OBVt ety Bl wid! JB
ome sl cnid) o

e St 1 a1 by Wl e sl

. L-,L>.:.>!|EJ3J¢,_..,, ul.ag,)UaJlk—:l_J

e b uadlivbudl e cmddl o,

- tlasdt ol O;,_.S._,J.er'jf
RPN (S PSSR TN
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Pabal g Gt Jhia STy i)

3. Use each of the following words in a sentence:

¢ l;%J'C>biJ|t 292 ¢ 4 G+L 62~J29t H&[r c_fbb t_)lp ¢ Fb

Ls:Qi ¢ C;;’L;&
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Oy el sl ), )

Lesson 134

Sy v
First Passage* J, Y1 P

Study the following passage thoroughly. The new vocabulary
items are underlined; relying on the context and on your knowledge
of the root, try to guess the meaning of each item (the teacher
will provide the meanings which you cannot guess).

2751 140A ol @ WGl 6 B Y iyl i8S 2 )

YY-,tho Yot gl¥lesilal 1q0A b oM. Yoy b g ale OB
z o ) - ot % < o
I A YU, YY1 300 s (LB gq vrq o) e

- ———

. <2
Eo - 1oyl gl e ddl oy ST(LE 0y heq v

197,018 b 1qoa el i 1, 00, - ¥ D! Y BRI

. \10Yf"g5y-=:;

k4

sl oz VL 1y S, s W B Y a0A pledle s

6]
\Z
l »
b,
G
£

i 335 S asiee LVl edny - Va0 pldls Bl B L n4

rd

VYA Gl e bl RS S Lt ST p B e

LS aind ! UV gt L ] by 85 (s, YV iV Jgiad N LY L U e

“ - -® 3 - - { 0~ __":°i -
dedr YA LA BB Doy ¢ i vew, vvy Gelel Jis o L

* In this lesson, and in the remaining lessons of the course, the
First Passage is taken from Wilson B. Bishai's Concise Grammar of
Literary Arabic (Dubuque, Iowa: Kendall/Hunt Publishing Company,
1971).
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* z
A ALYy ekl iy O vy, rra (KD iy

- of
o~ o - 0%

(P ey g—»'dug:L‘,..u—)Lu,,.s YT ).o.,.anJld)LsaS,..Jls.,)_a.,l

- e, . B e . el = 7. - e, . - 07 -

o3l BT X W Wt ] o oLl ai. o Lty anjs gn:-)L‘:, a b
. e~ T

O—E YQ0A flsg’{b.ﬂdl.slc;),wl ETTR _,)J.ou.k... Soanlyy 15 02

e B0l Shlas) J35 ) q0A pleinle i ol bt 4 3ol

'*J'é')!r",Y",“' * o »

0 »7 -

o.__..___,...),Ylu..u,HulS,..,f...,uP 141- ply 1q0A .k e 8 2ad ] <

Pk beBrallodntely ¢ lellalal Segls o as LT5 28,

,-,J'Q’L-ﬂ EF Y- lpbo) il L, . Y€ -u-'p:)“S -
podl (S )L..,. Y,TYo lil L’:TT' _.J.,,I 1PN JUC |
m“g‘i;}? ) ,iv- '--«~>'-'.u-—d-~45 -

el S i;}-?i YU LT 1yt e 8, g

poed | g’i.;-)- vorTA b llET ¢ aellas Ve, s,

el B Mt 1. Lerliliasl Bl clUaioatlS,an g
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o w -
Exercise on the First Passage _ J)"LF‘J' A el

Read the above passage aloud.
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[ ]
First Review t}') Yyl 3...._?.|J.J|

1. Rewrite each of the following sentences using the passive,
instead of the active, form of the verb:

coli ¥t e Sole s sl a1y
cordl L L el s ,ie (o)

R Bl YL Al s Kpie ugy (o)

L LI ERL B 1) RFRES Y- W] U S S PSP EON B )

deadly Vlizal popate I 5T ()

o Omey ! et o V0w WYL, dizsl ()
s WG Seoladl Jlakd el ()

. 2. Replace each of the underlined verbs by a phrase consisting
of d¢. and a present-tense form:

N CAN TR Y D VIR | IR

c oo e LU LS LYy wigd! Wyoeusdl (o)
¢ lebses J Ll i gl cals (o)

¢ oBadliale a3l JoladlelS (o

C oA bl bt e

A I
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. L,.Esbbdjl'&sh.a.“c—).ed)' (7)

RPSVRTIIOE YO 155 - JUATR R TNRY- S TRV TDEO S
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1]
First Homework J’Y' &;"J""”“"")‘“

(1) with the help of the tape, study the first passage
thoroughly.

(2) With the help of the dictionary, supply the missing
information (including the gloss) for each of the

following items. The glosses should be restricted
to the contexts which occur in the first passage.

TR gy
bl

K1)

*

-

( : plaadl) 353
s

( el 5y

( R
( pplaadt) il

e -
-

)—b
( p el ) Jil
rL—;

el ) 5k

——
o

{

-

-g/.-.( :OLAQJ')’)J;

o b

99



100

L-134



L-134

Second Passage g;LJ'umd‘

Listen to the following passage. You may stop the tape and
use the dictionary when you encounter unfamiliar words.

o .y

Ll o Gt i) G LN it iy Gy B 5Lty i .

el B Vo b2 318 iy s ol puned (5 9
Bod il g V35 by pged a1 B LA im Ty o e @D g
dles eyl Sy . piadl S e JLILA $ dea iy flie o
P by and) SN e e v Lt ol bin 20 SN

o thdly Ll g Wl e S 0l (e 3 pbie Jliza ! s 3 L

e L 3 e V3 L) 31 a0t NINT I o IR
it o Bkt Jy ey e el iy ¢ 35 L) LEnt IRl YL dake
SIS, FaRiivy IS KOO TS IO | YO o - sl plasc) G i

Nyl gl 3L plasaly o 1 e Yoo Ll 5 as b

e WS 5 S I Ty W

- &
@

—! M)t}*ﬂé’-;&:&,ﬂ"b‘-:&x or Oepdeadly e oLt Gy
Sl e el i s g 1505 8,2 o) e J s et 1
Stdl e U B alll Lajiy Lilhy,e Jeuad? Vi, L ol
§———‘9}‘-¢-~=:=.U""~‘-;-o5" or Onpdeadly s oLl 5 S ¢ ! U
gl gy . BLA Ll Lwrk;;ébr*' <. o “d)-‘r)-’-ﬁ Camaing
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S JE X e 3l s i il Sl Y e b
e aals Lo Yy s illy dla,dt e Bidlews, ) s waial WY1 e 59

e

. ‘&",a.'..&j.w,..d"élsﬁ,&ow", ‘ u‘.:..uJY‘

LAl b B S g 1315 o lal! Y sty ey

el ey (P ! pheally (Ll ) il e 1) B b
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. fa as) . -
Exercise on the Second Passage ‘;"Ul ! o Lot

Complete each of the following sentences relying on the
information presented in the above passage:

l. The French engineer ..............
2. The Suez Canal extends from ceccseans
3. Digging the Suez Canal was COStly tO EQYPE: tevevveoeaannn

4. When the work of digging the Suez Canal was completed,......

5. The treaty of Costantinople ceccces cecusea

6. One reason why President Nasser nationalized the Suez
Canal COmMPany WasS ....eceeeececeon.

7. France and England were outraged when the Suez Canal
Company was nationalized because terescccscncanan

8. Israel ocCUPied ..eeeveececenn..

9. The United NationsS ..e.eeeecen..

10. Attempts to control the Suez Canal will continue because....
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Second Review r O L1y P P}

1. This exercise has two sets of items: the first consists
of the forms listed at the beginning of the exercise, and the second
consists of the underlined forms. For each of the items of the
second set, choose the most similar item(s) from the first set.

PON B VeS| k SO || PO | PR Y PSR J el
¢ qj:\g‘ l:.,ﬂ‘,-n-.d:”.p.» ¢ JbL o 15.4 ¢ qﬁg ¢« & llgus
‘ r:'l_-.i;' ‘ J,J ‘ 3_:,,0‘))' Jguo‘_.ao ¢ ‘:;.-,5) ‘ L’UJJ,_-&

_L._i.: ¢ c,,,a:‘dl::

c et L le Sy Loy entdly 5, dlly peilly GRY oo e gl) ()
O R T C g

REVANIIR L [PORRF N ER LSO I ES!

L e b il Jeolaad fa LI ()

c bV Gt SaLll g a Y e ()

il L5 e pislialle,a gl ()
c laydy atlly uilly bl B g ()
o oSN YA e el ()
L] U apll sl up (b

e Guad1 3,y oliny Ul hd?) SV, (45)

B[ VORI - JV-SOWp WL JOW 0% P P L PSRN | )
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. B e 3 and 1 3, Lo

o iy el o LYYy i) )z, Bl AN B pne Jointe

(J)
(r)
(o)

2. From the words in parentheses, select the one which most

appropriately fills the blank in each of the following sentences:

(il ¢ calsdl e uyy) aal YL Ak, Jyull pay B

(ede) ¢ ooy o c.JL&‘|) SRRA'A I PR R PR)  COR ngJ:l

( - W

(eaedl ¢ cad)) ccall) L Claw ¥ ol i Lol
PSS CTPR URR & VTN | DESG TP NER | RS S [ 99

‘ s:‘.é-ﬁ ¢ = 0950) Lyl Sua GG LSsLYIe 1L
Colear ) - S Ups 0 S e Gl dame o sh IS

cgll e Sll) L ALY sslaa Jalhs pomsd
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Second Homework

(1) With the help of the
thoroughly.

(2) With the help of the
information (including the gloss)
The glosses should be appropriate
second passage.

(

L-134

g,,;\,:;Jl gﬂ}“Jl“fJPbJ'

tape, study the second passage

dictionary, supply the missing
for each of the following items.
to the contexts which occur in the

s g, laadl ) o730

c poladl ) ol

!

EE I

e odo

o

s pandl ) v Al

106



I,~134.

L
. . )l ool
Exercises on the Two Passages c;’ )

s »
A. Exercise on the first passage J)Yk”‘d' u“’ ST

Translate the first passage into English as accurately as
you can.

w
B. Exercise on the second passage gvtu'uﬂ*“ gﬂ‘ 5.5

Summarize the second passage using the NCTS writing system.
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Vocabulary Exercises e loddl s oyl

1. For each of the blanks in the following sentences, choose
the most appropriate item from the list which introduces the exercise:

cB e dr WL hlest ¢ il ¢ i ()

,_J ¢ J! ¢ qJJL-b

L<olow ol i gand! B el VaShdt Jso 0 ()

- Josdt e
iy 8 punis pLadl 13m Bl pe il S oln pyone gl ()
NN K| N | eI P LA Lol

i g Jaalls aor LT B JprdleBe ()
-t el gl
C e ded Gl pn ¥ glyiastlYI G ()

. Oreadl 2L Qs St gy By e 35 (B )

o oal o8 ELST o Uga o BIgm o LLT oo SV ()

.E,)_.L ¢ J.o‘.'a ¢ r‘.& ¢ e Mg

PLadl Vi Jayid! o B2 g i adt Skt gt (1)

@Ul‘.wl ..;5
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? a g G 18l S sl il S (v
I e vue Jyidl Ugim oo i B § ()
Crpnmie 335 1 Lo A B Jp el e pL L1858 szl LAl (o)
Ctede
N YOW [ UL TS P ol IV e vas sl ()

eI 352 ()

R IR CO o

2. Listed below are sets of words. Use each set in a
sentence:

s ¢ b3 ¢ o LLT (Y
o 3B o il (o)

LSy o dnkebadll ()
LR TN R W
bir 35 ¢ Jyyr wlhla ()
Sl o SNl o b ()
Gl LU o g ()
b ¢ gl ¢ bogn ()

dea g o el o 3l ()

PN :S")" ¢ oyl (J)
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3. Use each of the following words in a sentence:
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0ttty me Lty At ) W

Lesson 135

¥ [
First Passage J,Y'g-u.”

Study the following statements thoroughly. The new vocabulary
items are underlined; relying on the context and on your knowledge of
the root, try to guess the meaning of each item (the teacher will
provide the meanings which you cannot guess). '

‘:5‘:'-‘:}“'”'*" Qre o ‘,..E.-Jl (P L OOt v L any i iy el —
s oetly W e D OGN A L)1 3 38 LA

Basidle Lyl LI e a1 3, Ll e B adl 51 ppdad) ¢

BNV AP NEE] 3 AR

- W - . . st .G -

e Grall Jy e Bonle Bt aeustly Uit o dits ] apanslly Ddal o)

- -

’=|.’,_:.;~1|..~,J.,. lfJ’._-,.L.;..:l, LI ‘-w“ & Lmdw 58— ¢

cinadl Gl

Gt P aebs UL o B (Lo Y13 aym dale JUu

LS Y MY oo pal oL, &Y L5 anly Jl RSN N o= |

FUCIIPLIRPORIURN § VoW RURRT| | CPWT IV RO I DR R PO

cosds Wl ogas U o Sl e sy W
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s tistly Gl glate OB el iy o Lggde i) ol Sepd — ¥

o:s.:i lgaged
JBl 58y« pel LW gean Ko LoVl G ptadt JBdlels — 4

37512 @ oladl oy el desle W1 5l SLLIT 3hall s, ST S5
LS me = Bl G Lt paige 5 poud1 3 ! (5, Ko — 9
ECOURCTIE . O PO Y FCTL FE5Y FOPS VRN | PSRN kPPN ) PO B
s ol TTelan ¥l 5 prosmsd! bl oo pdlcad —

JESERON | IV TS [ WX ORS FRO T [ WA PRV VAP

Cod 1S L by, oo cdds o g:‘; ﬁ'&,l)',.!lu.,_.s) ’c-g:‘; o —

v JUXTIWIN | R LU [NITR) IR 5 I | PIO-Fp
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[
Exercise on the First Passage J;‘Yl}_dl ul;. Cyes
Read each of the above statements, then paraphrase it in .
English,
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[ ]
First Review ul, Y dast,ull

«l. In each of the following sentences, replace by one word the
sequence which occurs in parentheses, without changing the meaning:

s asadl Y b Slay Sla (& v Naall il aole ) (5 pld) (1)
L (a9l ) SELYIGLT 5l (<)

Caeliglh (e o) S Qs Sl ()

v ikl w13V Gyb e ( Bgrae peas ) L LYY ()
(A ) G, T e e, Bl ) sl p B W) g (2)

? (R Llead! ettt puscs ) e hill 86 e ()
L3N (fhatges 1S ) leoldls 3 ()

(A a sl eSldl ) bty as il JeoldV 5E (£)

? dpuad! 0dd ( cpSaw e dlelIl) vas b (D)

c (Sl o) e G ) 8 ()

el ((gas L) faldyadl ()

114



L-135

2. For each of the blanks in the following sentences, choose
the most appropriate item from the list which introduces this
exercise:

‘ ﬁ}DL ] EJL., ¢ thL* § e LJ’ ¢ gJLQJL @ s

[

S99 ¢ Llal e S oo, o0« Jio ¢ B . el

-

Gepp iy gl i) e By pen QB*I*-J"-“-";U'————U*J) ("
. Jsh

. B, Lt ) flis dp ol iud! 61 (o)

v A bl G Bl gy ()

el LRI G ] Sge I G Sl il e ()

poell iloy (@)

- pladt Ve g2l e dgeadt DX % ()

I phimg 1 1 smy e Gl el ()
. Al

DSV ey S el ol e, ¢ gSlllpeedlRla S ()
coBetaldl el JU Gradl Il o Sy o Suisd!

. B——.b—?b

. w&; C’

T ‘“,:jl

- geldlpladl b ol odo ‘)"-"'s.—""‘-“)‘ﬁ-u———bru' W ()
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"G
First Homework Jy qj}““‘:‘-?",-”

(1) With the help of the tape, study the first passage thoroughly.

(2) With the help of the dictionary, supply the missing informa-
tion (including the gloss) for each of the following items. The
glosses should be restricted to the contexts which occur in the first
passage.

( : pladl ) bl
(gl
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Second Passage & Lt

Listen to the following passage. You may stop the tape and use
the dictionary when you encounter unfamiliar words.

P - B

- -9 T T a4 U o7 w . ,: »
e o S ey g G B ¢ Mgl Jld (B dugs 2y 0 S ]
pe - - ’. L1 . ” E4 - C .-

5 e . R e
N L L e T R b Land

° - or e ¢ Og s <

, - «” R - . - -’3_’-’ L2 o7 T~ {/ - ’; -
Lyeauainy 9,,...!,; g’_.)Lo, U|)....so.-...:., :::,t'“: g”,.a.;b_’.“bb-:&l.p

-

-

Sastlt oL Y1 BT ¢ ks 2 bt Jles i A1 e by - Gy 3.

o -07 > .e’: . .
. dg‘).s-o '.'...L.u,:-_-r,..?..“ L,,”

w A..’, P w ¢ ’ 7
il ¢ Ola e Geall ¢ by lpae Y1 et 2l o et 2ls

a3 2

. b 9L

o2 2 22 b & /”: w 2 ,.
. , Iz - 3, °¢ 2 W 0P o ws .
sfd'fy*}';"ﬁ“f"’ ASg . .J,,.E.ﬂi‘ /J)L'.“ OIS...‘..;)O.,M o‘ c):r&,“ ._,.LG
w w ° R . 2 i 9- P R
Sy ¢ B peilely el B Sl (B Sl Sl B LA s

Camdw Y15, LA s LS Gt et bl ALt B

o L i ¥ By i a1 S e 1 BRI 0 a1 3ALY
el B (Lo :;'NS«-‘"c; b b e i1 ) St SV LS ¢ e ¥

.w.iudg”
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SR VRTINS R N AP R BT ATV B SR T PO

s P
Ccoally Lyngly B WY & WAL

Lo ¢ Oy Eny 9—;—9::—*—’“1“")5')-’.4‘953“53'&:’3' 3
ety 3he 2N (AT nny 6».‘:}‘-;«%:—"'—"'3@ & I Ui
Shadl a5 g 1A, Sisi ek S LI LY c,u,w,...u om Lgale
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L E S G
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S
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W (P el Ll R gl...so.,i,s.a.ﬂa, ¢ doliadligyblL Y1
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,”"/

L‘,..SJ, ¢ CL.&‘J.L«, r.lb.l. A.,S.:J‘L.u... J|A,,S|)...2'4J,J,‘).>J|)y.n..’
Lt Sty o Lo e s WY Gt (LI Ly S o g1 e

B e TS Sh eyl

DIV "I

Q"‘“’ 5%—&-”;},4.”“[’. Hu'd,dr_b.-qmu\ilﬁ ‘b.:.u,
N En iy ey Y 3.1,.,,112..&;. 3 ¢ dmpadl Jy s (5 5is

e 3,ei Y13 2000 qoo..\,_.ﬂul.Y,JL,)Sl)_»J‘ub)bw Sy . 3 aszal!

o.....JlrL.Y‘uP .J...U,Jas. oty W1 MA,.«I.,.L,..\.H uli)'..d' o J.r:,l'

s [ 4 E-Kd

» »
. Wik, _,L...L, oo _,.l.J‘rnl, ¢ Al hallieol
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Answer the following questions:

1. Is Algeria an African country? Is it an Arab country?
2. Who were the original inhabitants of Algeria?

3. What is the official language of Algeria? Is French widely
used there?

4. Is Algeria rich in 0il? Is it rich in natural gas?
5. Comment on Algerian socialism.
6. Is Algeria on good terms with the U.S.A.?

7. What is the capital of Ageria?
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Second Review o W) da ! ).Jl

1. Listed below are sets of words. Use each set in a sentence:

we

7251 BEPREN WO | PRI VX { R

¢ dao o 0h (9)

chls Ji (=)

el ¢ bl el ()

Al o e ST gadl ae ()

el ¢ fle o B3 ()

aadl o Gl e i ()

Aol amdlc,adl ¢ Al dbis ¢ sl ()

ala ¢ wlola ¢ (.L)

oYy« JS (y)

2. Negate the following sentences:
. ot E)L-.!‘:l,.):.i..‘:‘.’ﬁl (")
ol 18 I ly W) e SIS BT ()
e, o) Jgm a5 Ll )10 ()
e lia b fad Vol o) Sadlcoladl s ) (9)
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ceoladl s e 3, cabaz ()

cBas Gl i ()

by ool iz ()

c Al et e 38 S LS iyl el ()
SR £ PRy VPRI N VO

c e Ve Sl s Ll ()

c iy o B! dis I pued! e Loladle SV (J)

3. Replace each of the underlined sequences by a verbal noun or
an expression containing a verbal noun:

o Seaad | A..\_,.Jld.n Vo S ! O (1)

Calad! G oal s ad Ol oy plea ¥l gl Gl (o)

. l:...,Jl‘La;lr':,S.,Jui,,,j,Jl S (=)

E"f")“""’*“j' SV ag 00 Aol S e, (9)

. & 5""_"‘:"_'1' daag o padl o Y e ()

c il 5 olaB YIEL;0 1 ey Laladd Sl jmncile ()
c sl B Ol ey G il i1 Gyl ()

- et gy o JST 1 g il Gleceas das ()

c e O Sl a1 G ()
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Second Homework Q;L.Jl QJ)_;.JHT._?J,M

(1) wWith the help of the tape, study the second passage thoroughly.
(2) With the help of the dictionary, supply the missing informa-
tion (including the gloss) for each of the following items. The glosses

should be appropriate to the contexts which occur in the second pas-
sage.

( gty U5
( P edl) Lol

( P eendl) osls
( : paadl) 3—:(:.-;
ey i

ok,

i
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Exercises on the Two Passages

._-,,_;;J' ole oyl

A, Exercise on the first passage

VIR G e ()

a1 3L, J5 Y1 Rl
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B. Exercise on the Second Passage T .
G s pepms (<)
- - . et .
s adbdial JSJQL,L?.yh,,....zl):_,-.I

glaS Shadl Fla
depad L ayyad) (1)
Lyl e Y ) (o)

poldl (=)

ot el i) e St (o o8 bl Sy

3 o Vol 3 asle (1)
buip A pgpps ()

e Eplouslu ()

W‘;W"r)u -V

cona et badV SVEY (1)
etrad! ISV e cilia Vg s hadlaasla 1 5Y ()

L 35 0801 (5 LSty o omty2 ol st ! 5V ()
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r2 coelo¥ shadl KL

s LI
coduidl! ()
ol (=)

P s S bl
S sl iy Y Gpad! (1)

aip o angladin (o)

s Y Byt Jyo ol (=)

Ahadt B

walbyose (1)
o= (v)
IS hal (o)
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Vocabulary Exercises u;lqu;.ﬂ L;’ Oeylas

1. For each of the blanks in the following sentences, choose
the most appropriate item from the set within the corresponding

parentheses:
3;)‘.:_.3 ——— ..aS.c—L,:.,,léab.)L» 0"‘.:"‘3""“&;0““‘ et & o (‘) —_)
(t‘}o 03*1.?.33.’.&'.&).0.44“'0«
USSP | DR SO | BUNS WDIUOS JEVEA | PO I | [y TR I PO

RS TSRS VETRVREUS * T L LI B |
(dl.;::....l ¢ Juas )
g9 BuSin Y1 agSinl e OVt S im S A8 ot 0y F ()
(6 oredam e o) - oSl (@l iy, Lall usbill
o)« P bl st ol st el (9)
(t‘}: ¢ 3__.,.:‘!.
oSS Gl (2)
( KW-1) ¢ 3.(..,.»
¢ By ¢ o liugs ) . algd) olad! o J JU ()
(w5« <
¢ beba LoB) o L eally Ly, e S ()
( ek
T pais G by Bl e Netald Sk da ()

(2,,.6!. ¢ g Lae ¢ Ayl )

‘t‘)") . )LMY‘L,‘;.J:DJ;‘,
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¢ Jam ¢ aadl ) . el 6 L I gl o od (1) — ¥
( ote>
coolsaly L Lbe Ligsiayo Sk Sy ()

( g JELTY tk‘-’ul.’.

S olad) sy JSW YT Ly, Jise! (o)
(ola o Ll

gl e 2 hal (5 upmsnll Cpme LN LS, T ()
(Wolae ¢ apnSe « a5lhe ) . I,V e Ly

e ol ol ) Lol sl (B e ()
( !

s ) o poladly Jyad! g} Jsluy g hadlaSadl ()

(s Las ¢ b

cole ) .

Codadl) Bl a S S e S thadt i ()
( wssed! ¢ Sl

Ne bzl sms (g)

¢ 980 ) . O',Jw&,)l JS Ef).l gp
(wlsl ok,

( St ¢ Sraw,on o J'J.i.,) . ¢,&3;s'3i.1a.¢§s (.L)

P poladleddl b Buply pae e —— Gebsleadl daall Ja ()
(l——.:S- ¢ JJL,:- ¢ Q-!‘,-)

2. Use each of the following words in a sentence:
¢J.¢J..>. W CLL?‘JSL” ¢ ;.-.,,.EJ',-L&J' ¢ 3-(..3._; ¢ QJ,«LS
o
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0Ny e oldly asldl . W)

Lesson 136

w‘ o
First Passage ‘J’Y|gﬁ_JJ‘

Study the following passage thoroughly. The new vocabulary items
are underlined; relying on the context and on your knowledge of the
root, try to guess the meaning of each item (the teacher will provide
the meanings which you cannot guess).

o Ll * sl d
Pt BN (g 1352 50 a5

S g, el pay La 2%

:LPL$J|. 3Lp__aJ' " hﬁ,J&J

s 53 3D e bl p T el b U el d S 100 dan uis
d ez 15 el 58 Wy ol Jlel Jy il 5 5 dpagel | g, Lt ! Cny

"' - -
g__...y.g)Jl)'L.*:.‘ dy e

S, e )i b)) Ay 2N S 2 g B,y Wlesl dd 1 Jelt s,

caglly astply alle Ll fly oo B 50 80,1 W) @ 36
CRNROR | 1 J0- Y I-N RPORPICE V4 YU TIS T PO T EL EA PR L - )

Slasl e Bl S m ey ¢ Jdadl 100 b ) (B i et D

- JUY Y R U W PR | AP
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G o YN e 0 by 38,2013, 101 IS g ksl 5 5

EiL

¢ 5 a M e i 5 13 S g Lpdes

&
N P ] b\ SOV 10 1)

g o) 35 s 2V 15,10k Bolidl il s s Ll 5

» Al bl e WLl 2l Y1 s Wi s - s by

Eye— oe-")-‘c:e)‘-"-

by Wllesl Jy i (333,000 6,0V p, Laadt e Lus Y dad! 351y

vt S B e (b hmn 5 W1 Gy il el o5 S0 5 ol @z

o oles v 9y
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\J w
Exercise on the First Passage 1% LI L RN PR

Discuss (in English) the contents of the above passage, using
the headlines as a guide.
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[ 3
First Review ul, Yy dasl,ull

1. Replace each of the underlined sequences by a verbal noun
Oor an expression containing a verbal noun:

s Omgad 15 (5 ol i ot il g-__-‘-_.i“rﬂ-w)
oo LA Lo 1 oy al e,

c Joadl byha ot b oy optaat Jalsl

- abhgadl el G aay Whaadl g, o deys

e B e Secadl Gopcdla ) vay JletdV e 32 Uall e gen)

B e

L O
- ¢ . ¢
o Il ugis 1 vy @ g Ll cals)
TS FORE| FESIPY TP EOPURURI YT JUSS 1 U PO Y P o eey

T LR W It PRI AU PSR I T PO N G

2. Use each of the following words in a complete sentence:

€ Jedg )Léi ‘ Ji51 ‘ QﬂL ‘ )_ih- ‘ )L_u-

v ¢ e ¢ Sl
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Iﬂ‘ [
First Homework J,Y‘ ,ﬁ,]).:.ﬂg,_,‘.l,_ll

(1) With the help of the tape, study the first passage thoroughly.
(2) With the help of the dictionary, supply the missing informa-
tion (including the gloss) for each of the following items. The glos-

ses should be restricted to the contexts which occur in the first
passage.

- ( : pladl) Jl
( Pl Sl
s

( pgendl) w

( : el ) Jyos

- -

-

:
b
!

C_____;. (verbal noun)
( I (noun)
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-

1)
S Ppladl) o3y
( s pladl) Oy
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Second Passage .l g

Listen to the following passage. You may stop the tape and
use the dictionary when you encounter unfamiliar words.

L 350 St Ja Lt lopis Gl aiadt iy all oo gy’
I 7% VO DR ERNETIS [ DTN SAPININT S0'S LI WSSSUN | RIS P e
Cr‘—ir—“hbzdkbﬂ’éhﬂ ;ngoéauJ-BQJ Lffsuolsdsé4*5 . Z:LU;Y| h*u&*

- - 7, ¢

(hpad syl JE il 3l BEL ¢ GLLT e W) puiss fuis
- - . - {'..‘ - 2a » 2 < e L i~e
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1241 -, ] . -
Exercise on the Second Passage Q‘U rd ol e

Complete each of the following sentences relying on the informa-
tion presented in the above passage:

1. The area of Tunisia is comparable to that of cecceccne

2. The climate of TUNisSia ..eeeeeeco..

3. Tunisian economy depends largely On ........

4. With the Arab conquest of TuNisia, eececececes

5. After the French occupation eeeeeeeeece..

6. In spite of Tunisia's declared neutrality, .seceeee...

7. The political system of TUNiSiG..eeeeeeoen..

8. Tunisia has good relations wWith ...........

9. The capital of TUNisia c.eecececececenn
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P11 PR ]

Second Review

1. Replace each of the underlined verbs by a phrase consisting
of (g and a present-tense form:

oo odae SA) QLS L Y wigd) o US e 5T
S L] N PR -JEON | L,...,,.f_)_u_
SR ISIF PR T TN TIE YIS

PP R ESE TN |

C Bl g ohehd) £l e !
el U ol ared e g

- 3ol b el s
RIS 1YL 0% PO VO R | DA PR R T B Y

2. Each of the following sentences contains an underlined word.
Use the plural of that word in a sentence:

e oladl day etV dad | Jass!
§ ol 3o el s Ja

CBso i g S e

- Hlasdl (5 G ol
PRk PPN I U ROy WUV
cpla Yl Sl e 82

 pladl Hin ey 530k (S

v el et Gl f il degSad e o]
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3. For each of the blanks in the following sentences, choose

the most appropriate item from the list which introduces this
exercise:

¢ L;EEI ¢ :;L§ ¢ hed iruﬁib .JLS%" ¢ )ih. ' C,Ul
¢ =L ¢ V9% ¢ oy gggad)i”’j*lydy| ¢ cﬂaa ¢ by,

™ ¢ - wt .
S})-" ¢ q)i.t. € Ceomss o (Er 6 e

. ._____.J'ch+J|lu~|‘u1~4acfl§ (e J S?

. '1Jix51>gLﬁ.————_—-Jlgz)SLhJ‘Cb~5}:

. “ Lo il oSy 5l ol g ol
. 3 O . T LU

SUCHPS TR AT PY| ST RVUS N 0 IR TP TSI
C— Ss

cehlaadt st e SN ¢ a1 3, Laad)

N DT R FESO] L Y (G I PSRRI P Y PO

T e Vlodim e bl wadl ot Ja

NaSadle 5

LS NS NN TR T WA T
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Second Homework s Gl el

(1) With the help of the tape, study the second passage
thoroughly.

(2) wWith the help of the dictionary, supply the missing
information {(including the gloss) for each of the following items.
The glosses should be appropriate to the contexts which occur in
the second passage.

G';-":-‘;wf»‘);-‘::‘-“:r;’;“
s
) Gl
( Pl ) vy

( s pladl) RO
( peel) e

—
ae

( p ety Josal
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Exercise on the Two passages owaidl o )l
& -
A. Exercise on the first passage J,"Y‘ua.'..“ u" o | )

Translate the first passage into English.
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B. Exercise on the Second Passage

FEIRI o s (<)
il b ol Vs B Jesdt 5 Lsd) e o)l o

VU IS JOVOR E LON I T U TSR

c I sl s (g dnly s fle — ¥

. g (P GV 3L o a0 v

sl Gl Gestl! olas Y1 asay — ¢

o oS ) oy -0

- Jafesy o — 1

o g Jladlebba e S Y g all el b —
o Al fle st P — A

. oo o R Uy dols — 9
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Vocabulary Exercises

ol o o, b

1. From the words in parentheses, select the one which most
appropriately fills the blank in each of the following sentences:

(cptd! ¢ el o coadl) L parelolofal Ny
colV ¢ty LY e & ol jola Lo .

( eJi,:‘Yl

(oS ladl ¢ bl ¢ ppryaddl) Lt e il
((Gle o A5l . Gl )

u,hluLLN:E};uPY|;;LwI

dgSadl cdb a5yl e el Bl LTS i
(ool ol o olefly ¢ Bnlar) © B!

o et Gyl Gl Vi), uy pdas a2, Lid T B)ad ) il

((edgsm! ¢ ool edsl)

¢yt ) - 960 Lemey L1 0 0yl Lo Sy Sla jae G

(9 ¢ J Lo

(O;i;“‘fc"“" ¢r)Y)o3$|)}.U L

2. Negate the following sentences:

WIS IR URVINEIN] P TRV AFURSUES SR V8
S X [P Y N | e VR PSVCONIN | s

Y PG | I T0%% DOV -1 Y | PESRA

o g iy olae e yhadl s
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3. Replace each of the underlined words with a synonym from

the list at the beginning of the exercise:

-
o - & - PrY s -0 P

¢ hﬂ,ié ¢ CA:L; ¢ ‘ﬂzjé ¢ ngJLL‘ ¢ g’L&'cJ,JJ} ¢ J,9

w s, R Y - B

il ¢ O 6L e e WS ¢ JRNEY ¢ sy
C 1101 b s K gyl St
RERINIR T TN E NI A
¢ 3B Ipke om e Y g W S
. u‘-)‘m‘,.ﬂm&u-«dh‘lw)_?;,ﬂllt
RESUR (T TI W IS 71 P JOR T
C B Al P 1315 pads L
v il e 3 e TS B o
Al T oY Bt

¢ pold! il W) Gl Al Al b L
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4. Listed below are sets of expressions. Use each set in a
sentence:

GPO 689—!0]/9298
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